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THREE YEAR B.Sc. (CBCS) DEGREE (Regular/Supplementafy) EXAMINATION,
' ' - OCTOBER/NOVEMBER 2018

FIFTH SEMESTER
Part 11 = Statistics (With Maths)

Paper V— SAMPLING TECHNIQUES AND DESIGN OF EXPERIMENTS
Time : 3 Hours o e =} : , Max. Marks : 75
- SECTION-A

FAD0 - D
Answer any FIVE questions.
5 0% (S50 SATTHRDE S,
(Marks : 5 x 5 marks = 25 marks) .

1. Explain censes survey and its uses.:

PR FBGD DEGD0DTI é:adirwe;m ERas050. -
2.  Define systematic sampling, write its‘ merits.

ESTRONS (SAET) DEGI0D T°D MOKETOR o050
3.  Describe optimum allocation. |

eBgOEe $era05) K80 683060;503
4.  Explain the necessity of ANOVA. -

D3 )8 :.)'-3&93 &ng SOLISLIY 5560@:)33.
5.  Write dbwn the merits ahd demerits of CRD. ,

) o] o‘;ﬁ*dﬁg@agée)é.éé:() &doé’b »"moées"eb,' éés;ss"om [EPOS0H0.
6. Explain the layout of RBD. '

oSJ*&q)aQégq)é PO BB o?mgb S5 rSeaiso 9580505,
7. Show that E(Y)=Y in SRSWR.

SRSWR &° E(Y) =Y e d5Hdw.
| 8. Define ohe-way cléssiﬁcation in ANOVA.

D) IZ56S° ¥ D¢ HBEER0 DEGIOHI.

[P.T.O]



10.

L.

12.

13.

14.

15.

16.

17.

Explain simple Random sampling and its uses.

REY QI BOETH e SEBD K778 D600 T e BeY0d.
Explain sampling errors.

BOEISE o0 99B0HI%0.

SECTION - B
PoHD0 - B
Answer any TWO questions.
© DD Both ($%)0 SHIEERR0 Ai0B0.
(Marks : 2 x 10 marks = 20 m.érks)

Explain the principle steps in a sample survey.
@am SBS*D B0PFOH 0TV DIBOYHI.
Define stratified Random sampling‘obtain‘ its variance.
QB8 QIrLSyBE SOES Pires SEBR DEFHOD T By |, I Y8R g0l

Show that V(Y) = N-n

s’
n

2
L I BIPYHD0.
n

V()=

Explain the missing plot technique in RBD.

 afeesy )8y 0t B5IS° S0 PolGE PIEALR 580N

SECTION -C
gPB00 - B |
Answer any THREE questions.
O Baoeeio [0 S0 OB,
‘ (Marks : 3 x 10 marks = 30 marks)

Explain statistical analysis bf two-way classification.
B8 HBESes Bovt), FroRgE TFER DHBOHA.
Explain missing plot technique in LSD. |
3D HBOBD BN S0 PoGER EROR"R0D.
Show that V (Yst) < V(Y— sys)s V(Yran).

V (Yst) < V(i’— sys)s V(Y_ran) gﬂ&),.é;‘ﬁ{))ﬁn.

2 | : (5313SWM15)



18.

19.

20.

What are the sources of non-sampling errors.
@HAEID 570 STHOVN BT D5BOHB.
2

In SRSWR prove that V(y)f— where ¢ = %Z(yi -)

N i=0

' ’ 2 N
BBR By 55% Sy 2)8 PEETSeS® V(F) - o’ = %Z(yi ~5)
. o n ) i=0
Show that V,_, <V <V,

opt = " prop — "ran”’

Vo<V <V e 35o5dm.

opt — ° prop ran

(5313SWM15)



